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21

10 13 16 19 0 

21, 22, 23, 24, 25, 27, 27, 30, 34, 35, 40, 41, 42, 44, 46, 47, 50 

(i) uOHia:h Q
2
 = 34 

(ii) m<uqjeks p;=¾:lh Q
1
 = 

�����

�
= 24.5 

(iii) ;=kajk p;=¾:lh Q
3
 = 

�����

�
= 43 

(iv) wka;Yap;=¾:l mrdih = Q
3 - Q1

 = 43 − 24.5 = 18.5 

(i) uOHia:h Q
2
 = 

�

�
(17 + 1)th = 9th = 34 

(ii) m<uqjeks p;=¾:lh Q
1
 = 

�

�
(17 + 1)th = 4.5th = 24 +

�

�
(25 − 24) = 24 + 0.5 = 24.5 

(iii) ;=kajk p;=¾:lh Q
3
 = 

�

�
(17 + 1)th = 13.5th = 42 +

�

�
(44 − 42) = 42 + 1 = 43 

(iv) wka;Yap;=¾:l mrdih = Q
3 

− Q
1
 = 43 − 24.5 = 18.5 
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3 , 3 , 4 , 4 , 4 , 5 , 5 , 5 , 6 , 6 , 6 , 7 , 7 , 8 , 10 

(i) uOHia:h Q
2
 = 5 

(ii) m<uqjeks p;=¾:lh Q
1
 = 4 

(iii) ;=kajk p;=¾:lh Q
3
 = 7 

(iv) wka;Yap;=¾:l mrdih = Q
3 - Q1

 = 7 − 4 = 3 

(i) uOHia:h Q
2
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�
(15 + 1)th = 8th = 5 

(ii) m<uqjeks p;=¾:lh Q
1
 = 
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�
(15 + 1)th = 4th = 4 

(iii) ;=kajk p;=¾:lh Q
3
 = 
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�
(15 + 1)th = 12th = 7 

(iv) wka;Yap;=¾:l mrdih = Q
3 

− Q
1
 = 7 − 4 = 3 
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(i) uOHia:h Q
2
 =

���
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= 5 

(ii) m<uqjeks p;=¾:lh Q
1
 =

���

�
= 4 

(iii) ;=kajk p;=¾:lh Q
3
 =

���

�
= 6 

(iv) wka;Yap;=¾:l mrdih = Q
3 - Q1

 = 6 − 4 = 2 

(i) uOHia:h Q
2
 = 

�

�
(32 + 1)th = 16.5th = 5 +

�

�
(5 − 5) = 5 + 0 = 5 

(iv) wka;Yap;=¾:l mrdih = Q
3 

− Q
1
 = 6 − 4 = 2 

(ii) m<uqjeks p;=¾:lh Q
1
 =

�

�
(32 + 1)th = 8.25th = 4 +

�

�
(4 − 4) = 4 + 0 = 4 

 
(iii) ;=kajk p;=¾:lh Q

3
 =
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�
(32 + 1)th = 24.75th = 6 +
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�
(6 − 6) = 6 + 0 = 6 

 

mka;s m%dka;rh ixLHd;h iuqÉÑ; ixLHd;h 

0 - 4 10 10 

4 - 8 18 28 

  8 - 12 11 39 

12 - 16 8 47 

16 - 20 5 52 

20 - 24 4 56 
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(iii) (a)  8 

(b)  Q
1
 = 4.9 

Q
3
 = 13.3 

Q
3
 − Q

1
 = 13.3 − 4.9 = 8.4 

 Q
1
 = 4.8 / 4.9 / 5  

Q
3
 = 13.2 / 13.3 / 13.4 

Q
3
 − Q

1
 = 8.3 / 8.4 / 8.5 

wka;Ya p;=¾:l mrdih = 8.4  
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mka;s m%dka;rh ixLHd;h iuqÉÑ; ixLHd;h 

  0 - 15 6 6 

15 - 30 8 14 

30 - 45 12 26 

45 - 60 20 46 

60 - 75 10 56 

75 - 90 4 60 

 

(i) 

(ii) 

10

,l=Kq 

i
u
qÉ
Ñ
;
 i

xL
H
d;

h
 

20

30

40

50

60

0

15

45

10 30 40 60 70 9020 50 80

(c)  Q
3
 = 59 

(iii) 

(b)  Q
2
 = 48 

wka;Ya p;=¾:l mrdih = Q
3
 − Q

1
 = 59 − 32 = 27 (a)  Q

1
 = 32 (iv) 

Q
1
 Q

2
 Q

3
 



 

13 KMDC Karunarathna 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

mka;s m%dka;rh ixLHd;h iuqÉÑ; ixLHd;h 

  20000 - 20500 8 8 

  20500 - 21000 10 18 

  21000 - 21500 15 33 

  21500 - 22000 18 51 

  22000 - 22500 25 76 
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  23000 - 23500 9 97 

  23500 - 24000 7 104 
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mka;s m%dka;rh ixLHd;h iuqÉÑ; ixLHd;h 

    0 - 200 8 8 

200 - 400 14 22 

400 - 600 24 46 

600 - 800 12 58 

  800 - 1000 6 64 
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20 - 25 8 8 

25 - 30 12 20 

30 - 35 14 34 

35 - 40 18 52 

40 - 45 16 68 

45 - 50 6 74 

50 - 55 2 76 

55 - 60 2 78 
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19.5 - 29.5 2 2 

29.5 - 39.5 8 10 

39.5 - 49.5 35 45 

49.5 - 59.5 40 85 

59.5 - 69.5 10 95 

69.5 - 79.5 5 100 
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